11.3
a., b.


[Figure 11.3a goes here]

function 1:  use 10K, 5L
function 2:  use  8K, 8L
c.
Function 1:       2K + L =  8,000

       2.5(2K + L) = 20,000

       5.0K + 2.5L = 20,000

Function 2:        K + L =  5,000

                   4(K + L) = 20,000

                    4K + 4L = 20,000

Thus, 9.0K, 6.5L is on the 40,000 isoquant

Function 1:    3.75(2K + L) = 30,000

             


        7.50K + 3.75L = 30,000

Function 2:       2(K + L) = 10,000

                      2K + 2L = 10,000

Thus, 9.5K, 5.75L is on the 40,000 isoquant

Functions of K and L represent fractions of hours using whole units of capital and labor.

d.


[Figure 11.3d goes here]

